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#HIL Z#£Jnyy
2| J118116021 | 18 | 0.866] (£Avh) | 1.602| 2.000| 1.645| 3.200] CE | 1.050| 0.100| 0.650] 2.30 0.40| 0.65 065 242| 230
$HIL ®ERIavy
3| J118116002 | 28 | 1539] (3.0m) | 3.021| 3.100| 1.700| 5.270| CE | 1.200| 0.100| 0.650] 4.10 055 145 145 3.73] 4.10
$HIL ®ERIavy
4| J118116003 | 28 | 1539] (3.0m) | 3.021| 3.100| 1.700| 5.270| CE | 1.000| 0.100| 0.650] 3.36 035 0.70 0.70| 3.73| 336 B8 A xS
$HIL Z#£Jnyy
5| J118116027 | 185 | 0.866| (&hvk) | 1.602| 2.000| 1.645| 3.290] CE | 1.000| 0.100| 0.650| 2.18 035 053 053] 242| 218 ‘ Ez |
fasz IOy ‘ ] ‘ By F
6| J118116005 | 28 | 1.539] (3.0m) | 3.021| 3.100| 1.700| 5.270| CE | 1.000| 0.100| 0.650] 3.36 035 0.70 070 3.73| 336 iE-W ;T$
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7] J118115049 | 185 [ 0.866| (iZ#&) | 1.968] 2.000| 2.000| 4.000] CE | 1.000| 0.100| 0.650| 2.82 0.35] 0.70 0.70| 3.13| 2582 [ ¢ o] Zh
#HIL Z#£Jnyy
8| J118115005 | 18& | 0.866] (£Avh) | 1.602| 2.000| 1.645 3.200] CE | 1.000| 0.100| 0.650] 2.18 035 053 053] 242| 218
#3L EETOVY
9| J118115006 | 18E | 0.866] (1Z#&) | 1.968| 2.000] 2.000 4.000| CE | 1.000| 0.100| 0.650] 2.82 0.35] 0.70 0.70| 3.13| 2582
$HIL Z#£Jnyy
15| J118116006 | 15 | 0.866| (1Z#S) | 1.968| 2.000 2.000| 4.000] CE | 1.050| 0.100| 0.650| 2.98 0.40| 0.86 0.86| 3.13| 2.98
—
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a&t 26.10 6.82 6.82] 27.84| 26.10
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#H3L
2[J118116021| 185 2.000| 1.645| 3.290| C#! 0.100| 0.550 7.29 0.53 2.76 0.28 2.76 276 242| 242 0.017
#A3L
3|J118116002| 2% 3.100| 1.700| 5.270| C#! 0.100| 0.550 9.60 053 474 047 474 474 3.73] 373 0.023
#A3L
4[J118116003| 2% 3.100| 1.700| 5.270| C#! 0.100| 0.550 9.60 053 474 047 474 474 3.73] 373 0.023
#A3L
5/J118116027| 15 2.000| 1.645| 3.290| C#! 0.100| 0.550 7.29 0.53 2.76 0.28 2.76 276 242| 242 0.017
#A3L
6|J118116005| 2% 3.100| 1.700| 5.270| C#! 0.100| 0.550 9.60 053 474 047 474 474 3.73] 373 0.023
#A3L
7/J118115049| 15 2.000| 2.000| 4.000f C#! 0.100| 0.550| 8.00 0.53 3.47 0.35 3.47 347 3.13] 313 0.019
#A3L
8|J118115005| 185 2.000| 1.645| 3.290| C#E! 0.100| 0.550 7.29 0.53 2.76 0.28 2.76 276 242| 242 0.017
#A3L
9[J118115006) 15 2.000| 2.000| 4.000f C#! 0.100| 0.550| 8.00 0.53 3.47 0.35 3.47 347 3.13] 313 0.019
#A3L
15|J118116006| 18 2.000| 2.000| 4.000f C#! 0.100| 0.550| 8.00 0.53 3.47 0.35 3.47 347 3.13] 313 0.019
&5t 74.67 32.91 3.30 3291 3291 27.84| 27.84 0.18
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1 J118116020 | #8148 | =@ Bk AR S0 2.43 75 | ®E| 0014 0.022 | 65 100 10 1.176 1.15 1.00
10 |J118116017 | FEmaw | = mk AR gy | I 1.42 5 | =m| o014 0.08 | 65 100 2 0.222 0.35 0.20
1 J118116016 | FE%aR | =8 &k AR S0 1.54 75 | ®E| 0014 0.022 | 65 100 2 0.319 0.35 0.20
12 | 118116007 | TEEaRE | BE Bk AR o0 s 4.05 75 | ®E| 0014 0.022 | 65 100 26 3.069 2.75 2,60
13 | 118116014 | TEEAR | BE Bk AR S0 2.13 75 | ®mm| 0015 0.020 | 70 100 10 1.304 1.15 1.00
14 | 118116008 | TEEARE | BE  EK Ak o0 s 3.71 75 | ®mE| o015 0.020 | 70 100 21 2,857 2.5 2.10
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B 0. 086 0.170 n 9.037 8.00 7.10




